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y-cotxnnd'ﬂBX-ﬂxis.

ca lying between the curves y = tan x and

(s)uogzuq.uﬁiu
(D" 4 log 2 sq. units
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The modulus of the complex MUMbET 5= 6i) (2 - 21 )
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50, The contrapositive of the statement
*H‘mlhmdbmtuminthemeplanc then
(A) Iftwo lines are parallcl then they do not intersect in the same plane.
(B) If two lines are not parallel then they intersect in the same plane.
(&) lftwOlM=mpulﬂelﬂlenthcyiMcn¢ctinﬂ1¢sameplme.
(D) If two lines are not parallel then they do not intersect in the same plane.

they are parallel.” is

51 The mean of 100 observations is 50 &N fillr standard deviation is 5. Then the sum of
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